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S 2/ XH A 18.7 -04 18.9 17.0 1.66 310 -144 -31~+69
= L CH | - - - - - - - -
sl 2| CHA| 16.8 -0.8 173 15.2 1.48 350 -2.02 -3.5~+147
HH| 989.4 10.1 1,109.3 1,023.5 100.00 100.00 - -
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HE7| chy]

T\ X}t 145.2 -200.2 301.3
dad 44.0 -0.1 71.2
7349 101.2 -200.2 230.1

S| Xt 844.2 0.3 846.5

LA 48.6 -1.6 50.1
=LA 2 671.8 36 670.5
S 2|3 4] 88.3 -0.7 89.6
S22 18.7 -0.5 19.0
= LHCH A - - -
S 2| CHH| 16.8 -0.5 17.4
A 989.4 -199.9 1,147.8
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8.11
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1.56
1.56
100.00

69.2
69.2
128.6
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48.7
19.6
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659.4
36.4
519.0
102.2
1.9
85.3
85.3
17.0
17.0
15.2
15.2
1,023.5

6.76
6.76
12.57
12.57
4.76
1.92
2.84
64.43
3.56
50.71
9.98
0.19
8.33
8.33
1.66
1.66
1.48
1.48
100.00

15.0
15.0

0.3

0.3
S
-0.5
-0.6
-0.2
-0.5

0.3
-2.7
-2.7
-0.4
-04
-0.8
-0.8
10.1
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5l 2| =4 -2.97 -0.43 15.43 005  -36.13 -5.21 20.63 0.07
S 2 K 2 -1.90 -0.19 -2.14 -164|  -23.12 232 -2.86 -2.20
= LHCHA| - 3.58 - 8.66 - 43.56 - 11.57
S 2 T A| -4.70 0.92 0.70 275  -57.13 11.15 0.94 3.68
Al -0.39 0.03 4.65 1.00 -4.77 0.32 6.22 1.34
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(St %)
78 25408 MEaA
£H7|RpAL 343 co|RE 287122 tESH: F8AHMEl J|Ti4 S
BRI 420 713 Al 8E4ES DY s TR0 B 498
7|3 405 Ma(SENIYHE DS I8 27498, SIS E MUK




(2t %, %p)

=LA 0.54 -0.11 2.15 -0.42
5 2|7 4] -0.76 -0.25 -3.02 -1.01
S 2 2 277 -0.56 -10.97 -2.21
= LHCHA| - 772 - 30.62
5if 2| CHA| -2.86 1.58 -11.34 6.25
A 0.32 0.19 1.26 0.76
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Chd|

d=d 0.31
SAEEI| S MMF 0.31
784 0.32
EXESSIENA 170 0.32
TUHFA -2.27
A7|FsSFA 10 -2.51
EXESEYA—ATA 135 2.1
LR A -0.03
A7lasLd=3MMME 02 -
EXESS=SHAA 10 -0.08
EXESLOHELH 166 0.26
EXNESYUETSHM A 58 -
s 2|34 -2.97
EXEESZZEFA 137 -2.97
i 2| kA -1.90
ExXEseg=2 1A 151 -1.90
sl 2| cH A -4.70
ENESEEREATE X1 -470
A -0.39

0.01
0.01
0.04
0.04
1.30
1.06
1.46
-0.09
-0.01
0.06
-0.43
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-0.19
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0.03
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12.48
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3.22
15.43
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-2.14
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4.65

0.14
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-1.26
0.21
2.25
1.83
2.54
0.39
0.88
0.41
0.45
1.28
0.05
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-1.64
-1.64
2.75
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1.00
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3.84
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-27.63
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-25.67
-0.34
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3.18
-36.13
-36.13
-23.12
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-57.13
-57.13
-4.77

0.13
0.13
0.50
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15.77
12.89
17.74
-1.14
-0.15
0.75
-5.21
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-2.32
-2.32
11.15
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0.32

3.87
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2.13
3.83

16.68
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0.19
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-1.69
0.50
3.01
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3.40
0.52
2.76
0.54
0.60
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0.07
0.07
-2.20
-2.20
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A7lasLd=3MMME 02 - - - -
SEXESL=SUHIA 10 0.47 -0.01 1.87 -0.04
SEXESSHEME 166 0.93 0.12 3.70 0.47
EXESYLEAYSHRHHA 58 - - - .
ol 2| 3= 4] -0.76 -0.25 -3.02 -1.01
EXEESZZEFA 137 -0.76 -0.25 -3.02 -1.01
sH 2| XA -2.77 -0.56 -10.97 -2.21
EXNEse==2 A 151 277 -0.56 -10.97 -2.21
sH 2| CH Al -2.86 1.58 -11.34 6.25
EXESY=EELEEE -2.86 1.58 -11.34 6.25
A 0.32 0.19 1.26 0.76

T8 BEHE} TE TEAE IR
PN, 0.04 0.06 5.25 2.77
S 7| KpAt 2.56 0.63 0.89 1.39
A 2.17 0.63 1.1 2.02
F 1) gX0|= 7|Zto] Ol FUHRAFAES 7|F2E ME
T2 MEHIE ME A FRETLERAHE CD 22 HE
Z 3) TE(Tracking Error): BM CHH| Xnt=QE0| Mz dZ LIEtLH= X[ &H
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S| X4t 1.21 0.04 0.09 80.00 73.75 -0.93 0.03 -0.04
= LHCHA| 2.17 - =772 0.30 - -0.03 0.02 0.00
T U FA 1.90 -3.12 -3.87 2.00 436 -0.12 -0.09 0.03
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off 2| = A 1.63 -0.76 -0.51 10.30 7.80 -0.22 0.01 -0.02
Sff 2|k 1.31 -2.77 -2.21 3.10 1.66 -0.11 0.03 -0.01
Sff 2| CH K| 2.00 -2.86 -4.43 3.20 1.51 -0.21 0.07 0.02

HA| 1.14 0.29 0.30 100.00 100.00 -0.92 0.09 -0.01
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7 5) 2 ZIto| MM JHHRArO| BHAL
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21 -0.01%2 LIELY
@ HU&X XHHIE 217 0.09% 2 7tE Y26t SHEEUCH, MEFN XHAHE Rt -

0.92% 2 7I& A - E
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